Xa. (00D0O0OD)

0000 kO n00000 AD BOOOOODOOODOOOOOOOOO

ogoooono.
e (DDDDODO)
k" Al
.(DD)
A
e (DDDDO)
AB|,
1. 0000 Xa-1.
k=3, i [ a2
0 a2
2. 0000 Xa-2.
1
k=2, A=1]-2

>

B=A

-1

oboboooobooooboooooooooobD.oob,0b00Db0 4500

48000000.

3. 0000 Xa-3(OOODOOOOOOOOO).

1 2 0 1 20
2 1 1y, 2k k k|,
kE k k 1 1 1

4. 0000 Xe-4.(DOODOODOODOOOODOOOO)

ap by o dy ap by
as by ¢y do 0 be
az by c3 ds|’

0O 0 0 O

5. 0000 Xab. (0OOOOODO)

a1 2+c
as 3+c

11

C1
C2
C3
0

dy
da
ds
dy

ay

a2

)

o O O =

by

2k 0

k

1

1k 1

C1



